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n = 1ij;
n=7j;
public class MyClass {
J = 1n;

Integer i;
Integer j;
String s;
Boolean n;
Boolean k;

public MyClass (Boolean 1i)

-

}

public Integer methodI (Integer n) {
Integer s;
String 1i;

-

S new String("Hallo");

if (n.not()) {..}

AN

s = i.add(n);

return k;
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return 1i;
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}

public Boolean methodB (Integer n) {
Boolean s;

return n;

if (s.equal(n)) {..}

-
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return s;

}

public String methodS (String str) ({
String n;

-€

return str;

Kontrollmuster

if (s.equal (k)) {..}

if (k.equal(n)) {..}

S = ny
s = str.equal (s);
s = i.lowerThan(j);

str.append(n) ;
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k = methodB (n);

k = n;




